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Ayestion 1

ot yet answered
Marked out of 2.00

03M®MY096 1 3000mgmL.g0bg0bogmmm bmdngmmdgdo:
A={ dm30@o doMm¢030 MHoEb3o};

B={ dmgogo 5-39 bogmygdo Mmogbgo};

C={ dmgono 396¢h0 Moibgo};

D={ dm30@o mybo MHoEb3go};

gosoogomgo [ (DN A)U(B—-C)]

Answer:
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=n%5B%28D%20%5Ccap%20A%29%20%5Ccup%20%28B-C%29%5D
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Question 2

Not yet answered
Marked out of 3.00

4ym30 5 m9om®0 5 3030 o 2 4y30mgmo 3gMol 9O mbon®mo Bm3nl dmHmMYMY. Yygmoob 3gdmbig3om 0mgdgb ghm dyMmymob.
303Mm30eMYm 030l 0eMIdMMBO, MMT dTMMYIYIN0O 0OMYO 0O Y30mMYIMO RQYMOU.

Select one:
O a. 5
6
ob. 7
12
Oc b
12
O d. l
6
Question 3

Not yet answered
Marked out of 2.00

™m®0 ALOHMEMIMO 9O M3069000L80b EOIMYZ0EIdMOE JugMol LodoBbgl. 3oMmgzgmo ALGMMMgmMmobomgol Lododbol odnobgdol
OM00mMO0Y 0,8, bomyemm dgmdmg LM MM YMoLbomgoL-0,7. goTMMZOMYM dEMOdIM™MOd 0d0bo, MM Lododby EOBOBEYdO MM

HhYys000.
Answer:
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%7D%7B6%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B7%7D%7B12%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%7D%7B12%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B6%7D
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Question 4

Not yet answered
Marked out of 3.00

LoBymddo doo¢bgl gMmo O 03039 EOLObgmgdnl 200 PYsbmy®o o 300 >EEOMMOMN30 BOMTMYOOL EIHOMO. dCNIOMHMOD
03000, HMA YbMPHOHo BoMIMYool Eghamo bhobEoMmbymos oMol 0,9, bmmm 0EZOMMMOMN30 BomImgdobo 30 - 0,8. Lobymooob
dgdmbgg300 dg0Mmhogl 9MM0 EYHOMO. 3oTMMZOM Yo 030l dgMISMMYY, HMA 9b EIHOMO bhobpodMAHymoo.

Select one:
O a. 048
O b. 084
Oc 018
O d. 0,72

Question 5

Not yet answered
Marked out of 2.00

9O M0 oLMMMOL 39 gaoE LOABBOL EOBNVBYBOL dEMIdMMBOS 0.5. 3dMMZOMYM 030l dEMIdMMBY, MMT MM3 Mmbo
3oLMMMOEOb LddBBY EOdNVbEYdIO MMFIM.

Answer:
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Question 6

Not yet answered
Marked out of 3.00

mbhoho BHObEOODHYM EIHOML 03BoEYOL 0.8 5eMIPMMO0M. oMM IM 030l dEMOdMMBY, MM E3BOEYdIYM 100 EyHomdo
LHObEIMHM EIHIM MO MOMEIYbMOd 0gbgdo 0MObo3Mgd 85-0 o 0MOYdghgL 90-0L. 3oLybo EoEdMZ3otM 9o ddodol 9393
mmbo 3003Mm0L LEdyLhoo. (P(-x)=-P(x), P(1,25)=0.3943, $(2)=0,4772, ®(2,5)=0,4938, O(3)=0,4986).

Select one:
O a. 0,971

O b. 0,8929
O c. 0,0995
O d. 08715
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Question 7

Not yet answered
Marked out of 3.00

169390 Ho3doL &- 0990mb393000 LoEoEOL Lodz3eMnggo

fe(X)=ga-x" i 0<x <3,
D = 3

300Mm3oMm9m ¥

Select one:
O a l
6
O b. l
3
O c. l
9
Od 1
2
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B6%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B3%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B9%7D
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B2%7D
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Question 8

Not yet answered
Marked out of 2.00

60930 2

dm3999m00 EoLIMIHYMO Hodob &- 390mb3930m0 LoEOEOL gobobogmgdo.

=l

-4

-2

0

P

0,3

0,3

0.3

0,1

303MmM30MmM9m M(&-)

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32511&cmid=1906
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29
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Question 9

Not yet answered
Marked out of 3.00

169390 Hodob &- 390mbg930m0 LooEOL gobobogmgdol Qb0

<7
. x=7
Fe(x) =4 T<x<11
LETT— 4

300MM30M M .fw (&-)
Select one:
O a1
Ob. 2
Oc 4
Od 9

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32511&cmid=1906
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29
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Question 10

Not yet answered
Marked out of 2.00

dm3999m00 EoLIMIHYMO Hodob &- 390mbg930m0 LooEOL gobobogmgdo.

B

c 0 1 3
P 0.2 0.3 0.5
300MM30M M D (&- )
Answer:
Question 11

Not yet answered
Marked out of 2.00

dmE9dnmoo: ( )IQ}M(T}')I

sompge M (BE+27)

Answer:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32511&cmid=1906

_3.

60930 2
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=D%28%5Cxi%29
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29%3D2%20%2C%20M%28%5Ceta%29%3D-3
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%285%20%5Cxi%20%2B2%20%5Ceta%29
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Question 12

Not yet answered
Marked out of 2.00

&- 99000393000 LOEOEY 3obBNEMYOYMNO MObOdMOE [5,b] Fgomgdo.

M(£)=8

303Mmm3om9m b.

Answer:

Question 13

Not yet answered
Marked out of 2.00

dmEgdymoo dgmbhgse: 2. 3,2,7,4,4,3,3,1,9. L
03M390 Y3bmMd0 BomYad(H039M0 MMEObOL By dHommm3obo dgaolgdo X .

Answer:
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https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29%3D8
https://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbar%7BX%7D
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Question 14

Not yet answered
Marked out of 3.00

dmEgdymoo dgMhggo: 1,0, 4, 3, 3, 2, 3. 0.
03M39m Y3bMd0 EoL3gMLoOL ByMHOMMM3gobo dgaolgdo S %

Select one:
O a. 12

O b. 4
Oec 8
Od 2

Question 15

Not yet answered
Marked out of 3.00

25 3903mad9 00330039000 oh3960, H™MA 0Lobo bodgomme 16 Bymb 0bEMIYdgh ghmo BobgMmol gobBMm®mgdol. 0390 99%-0060
o0dgEMBdOL BEMBOL 06HYM3MO BoBYIMOl gobBmMMmgdOl bodnomm EOMOLbm3L, My 36MdoMmos, GM3 02=36 ( Zp,01=2,33,
Z0,005=2,57 , Zp 025=1,96 ). (30bbo 003330 9m 8dodol 89893 Mmbo 30RGOL LodYLhom).

Select one:
O a. [12,916; 19,084]

O b. [11,916; 18,084]
O c. [12,568; 17,432]
O d. [11,568; 18.432]

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=32511&cmid=1906 10/12


https://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_n%5E2
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Question 16

Not yet answered
Marked out of 3.00

dmE93PE00 MMO MOMEYbmd®m030 bodbol dgMhgso .
X 0 1 2 3 4
¥ 3 1 -1 -3 -3

b9 gm dgmhgz0mo M9z gbool BHROL gobhmemgdo.
Select one:
O a. y=3x-7

O b. y=-2x+3
(O c. y=x+3
O d. y=-4x+1

« »
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https://testing.gtu.ge/mod/quiz/view.php?id=1618&forceview=1
https://testing.gtu.ge/mod/quiz/view.php?id=1620&forceview=1
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